1620505

P

NTE030 1a20503 NTS030

2021(0dd)
i{:m -V-EE GROUP- A

-Ihl - 3['.73\--
1 II]('. Auto.
I.- L1h'.‘|.\"ﬂ.: l:h . SENIT L {
: U NMast f\'ll“ilh]l.' dnsw ' h{“n '.I > f i
* h 1 [§] ' o
) e ¢t "l‘-"-"ill'I;.

Pass Marks : 28 Options 12020
e all 20 grestions from Group 1 coch Gresticn _ _
Lsvweer all 20 qriestie / SEHBED Suyad ey & qIH fod -
carcies I nads.
4u- AN 20 4Bl & SeR Q) ucla el bl i ] S i 0 What is the characteristic of a good colitrol
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[n an open loop control system. autput .

(a) is afTected only by parumeters ol the system
(b} depends on the control input

1 is independent ol control mput

(1) None ol these

g gRuz Fazm agfa 7, e
(3) sgfy @ arrfier @ waifa glai 2
(@) Prasm gge W PRk $r @

(@) Praizor 3qe @ Haa gl @

(@) 3719 A »1d € |

A signal which starts at a value of z¢ro and
increases hincarly with time as called
, 1a) Ramp signal
(b) Step signal
(¢) Impulse signal

(d)} Nonc ol these
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(1) ®u R

(|) s7aen R

(@) ™ | @Iy T

ceencrative feedback means the output is
in feedback with
(a) Step input
th) Negative sign
b1 Positive sign

id) Oscrllation

ReRfea vz 35 &1 adq9 ghar &,
FHE ASTYT ... BISAF & HIY ©
(31) VU zge

(@) #vrens fae

(a) orrors firs
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A servo - motor has the drawback of :

(a) Commutation problem
W Low starting torque
(¢) Poor reliability

(d) All of the above

@ qafeR A &N Bl 8
(a) ST Al B

&) = gqRAA ci® &I

(w) F

(z) Suxraa G+l

The transfer function of a system 1s used
to determine.

(a¥The output for a given input

{b) The type of system

(¢) The input for a given output

(d) The steady state gain

fpeht tgfy @ TG Gad 1 ST,
 fa@rem @ fae fem oA €
(1) fad M gYe H ANTYT

(@) (™) vgfa &1 9aR

(@) A M angeye & FIYC

(%) Rer aravern A7
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(&) Crinieally

=1 the SVRem gy .
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(cy L nderdamped
(d) Nong of these
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) sty | R
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(|) sz 3z

(H)Wﬁaﬁquﬁ;

Th ¢ time required for the response to reach
half the final valuc for'the first time is
catled the -

(a1 Rise ume

(b} Decay ume

A1 Delay ume

AR

(d) Sctthing nme
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The elfect ol lachomeler {cedback 1 a control
syslem is to reduee

Ly Only nme constant

(b) Only aain

(¢c) Damping

(d) Both eain and time constant

ol § @i AR Pread

v FrEFo 9

B UHTE e P s ed elal 2|
(31) Fad WA ReRT®

ODEEGRE

(@) Sfkaw

() A aen wwA ReRI® Rl

Which one of the following is required tor

stability of an ac servamotor N

(a) A negative slope on the torgue = speed vune

(b) A lincarized rque - speed cunve
(¢) The ratio ot the rotor resistance o rotor
resistance should be hizh

L The rotor diameter <hould be less and

axial length large

O
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(

The e
he output of a feed buck control svsiem

should be o lunction of

4 Relerence and output

(a0

(b Input
{¢) Feedback signal
(d) All of the above

Wedd FraFvr gomelt &1 IFacye
& B4 BT &
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The electrical resistance is analogous 10
1a) Viscous damper
(b) Spring
(c) Mass
/Lth None of these

[xi)

[~}

(i) In acritically damped system. the damping

’ factor 1s of the order of

(a) Zcro
{b) Less than unity

) Umty

(d) Infimity

Bsfema Eras gumelt A, SFUT LRIC
o, WTSR (M) T a2 -

(31) A

(3) g1 A B

(a) goré

(g) aT=

[xun)
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Which one of the following statemens s
correct 7 A plant is controlled by a Proportiona|
_ o ona
controller. If a time delay clement is introdyc I

C(

i the loops its
(@) Phase margin remains the same
(b) Phase margin increases
(¢) Phase margin decreases
U Gam margin increase

frrifeed $om A Q@ o9 91 v 2 ?
Wmmmﬁjﬁmﬂ
fPrafya 8 w1 21 ol waa A aw
# qu ¥ genfaa R ama a, gee
(1) @ =iRia aaF @’

@) B =RAT g SIYm

(@) wor midfa g arem

(z) W9 wifefa qg wmgm

I'he effect of integral controller on the steady
state error (egg) and on llgc_;gﬂmr_iliﬂﬁlily
(Rg) of the system arc
(a) Both arc increased
{b) tyg 1S increascd but Rg 18 reduced

o ey is reduced but Rs is increascd

(d} Botharc reduced
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Pt gomrel @ Rerx raeel Afe (esn)
qor7 araE Rerar (Rs) W R uICIRR
Praze &1 9w gl ?

(31) <7 dg ST 2

(d) s G601 & AfFT Ry T e

() cgs G 2 dfed R gedl 2

(g) <Y wedr €

(xv)

(wiy By the use of PD control to the second

order system the rise time
je‘]’[)ccrcas::

(b1 Increases

(c) Remains same

(d) None of these

ﬁ:‘mr?rcﬂﬂmuvnf-ﬁﬁ‘mﬁtfaw
F1 I B A AEA

(a7) =edl §

() wgar @
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() wa S=a 3ifse (wn) gomeh
(1) Rerdia Ffe geman
(@) Fr=t Reran

(v AWhat is the effect on the natural frequency

(Wn) and damping factor (8) in the control

systems when derivative contraller is used

(1) Wn Inereases and & increases
(b) Wn reniins unchanged and & increases
1NS unchanged and & decreses

((,u} Wi orei
and © increasces

() Wn decreacse
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() Wn aear @ a1 5 Tedl @

(@) wn araRafifa el & ae 5 gadl 8
(c)) wn auRRafia <& & awn o uedl 8
() wn Tredr & a1 5dgar ¢

(ix)  Which of the following system provides
excellent transient and steady state response
{(a) Pmponional action

(b) Proportional + Integral action

(¢) Proportional + DifTercntial action

_(dyProportional + Intcgral + Differential action

wiv  Prifed gone ¥ S dgax gifate
aon ReR srawen qfifra 97M FYar @
(31) s fora
(@) wargurd +wnaa far
(|) AU + ATHAD faran
(2) quTUT + AN + JFHES AT
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(xx)

The control in SCADA is
(a) Online control

(b) Direct control

AT Supervisory control
(d) Automatic control

(xx)  SCADA ¥ fg=3vr grar @ :
(37) siTeg= g
(a) e g
(@) gddgsia Aaam
(g) w@afea fFra=ao
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.wer all Five Questions.
. 4x5=20

wntr‘i‘—:!;mﬁa?aﬁ?a"l

Define open loop and close loop system. Give

and disadvantages of open loop

the advantages

syslem.
y 4

qnqﬁﬁqquaﬁfﬁwﬁmﬁﬁ

g
qquaﬁﬁmﬂqﬁﬂﬁﬁﬁ

R | el
fod |

OR(312xd)

Write the characteristic equation of a transfer

function. Derive the expression for closed loop

transfer function.

P.T.O
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What is potentiometer ? State application of

potentiometer.

g fyaifiey a7 2 ? aidRaificy & suaiat
& ford |

OR (312141)

Explain the principle of operation of a Relay. Give

different types of relay.

RS & darad Rigra &1 avfa &Y | A=
geR ® R &1 am fad |
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Explain the construction and principle of synchro

transmitier.
4

Rl giefler ot aomae W@ Rigra o1
quia &v¥ )

OR(37241)

Explain the proportional control action in control

system.

= agfa 4 saod Priser s 3
rET oW |

Discuss PID controller

PID =% @) aarar o |
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Explain the principle and Construction of g
i

Techogenerator,

EP! SR W T W R w1 vk
& |

What s PLC 7?7 How it works ?

PLC &N & ? ug &d @&l & & 7

OR(3124@ar)

i " ~ slam
Draw the block diagram ofa PLC and expl

each part in brief.

pLC BT @Us AR@ Wid e yEE H

&1 &g N aofq sV
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Answer all Five Questions .

6x5=3

Wi gig ye & aav @

7. What do you mean by block diagram representation ?

What 1s summing point and take off point ? Explain

with diagrams, fraTd |

6

v Ira yfaffee A sy T was@ § ?

Welu =g q2n 2% v Ry am € ? P

wfga aolq &¥ |
OR(312ra) -aw the torque
8. State applications of servomotor. Draw
. N . . , * . c oy a ¢ scrvomolor.
Derive the transter function using block diagram slip characteristic of d.candac 6
reduction technique of given figure.
g . ot
drex @ sl @ frd | dowhe &

vodlo wafarex @ o R
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What is variable reluctance stepper motor ? What

are the major applications of stepper motor ?

gRadTee Reedy Rux Aex a1 & ?
WOz Mex T & ST Fa1 8 ?

Explain derivative control action and Integral

comtrol aclion.

qmﬁﬁwﬂ?mﬂmﬂnmﬁaﬁﬁ?m
frar &7 afa & |

OR(312ran)

What is digital controller ? Explain micro controller

to be worked as controller.

P.T.O
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fefoea Prias a1 2 7 agHfHaTs 5
Prias A awe & & & gl w5y

Fxplam Response bime and cffects of response

ume for 2 PLC.

e pLc @ fare ufafdar @ a0 ufafem

wan & 9@ & dvia & |
OR (312441)

Develop a ladder dusgram for tum on a motor by
using a "START push button and tum it olf by
using a "STOP” push bution. Turm on an output

indication when the motor is running.

v Wzx ) e 3 HA & START I

gt &1 ITAT aAr e wie a2 STOP
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H A AFHeYe uHa e & |

Draw the block diagram for the circun shown
in figure, where Vi and 11 are the input and

output vanables respectively.

6

+ R} Vi

O—www - 1

I
\I [ P2 Ej I-
Co |
R 1 9Ruy i 3 faie a@ve s
dia, SET Vv, A i wAn: gege ann
#rdeye 991 s ard aqg &
P.1.0
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Write notes on ;-

(1) PID action using pnecumatic controller

(if) DCS (Distribution Control System)

31 R fewgefy fora —
() arrdrr e e PID fran
(i) DCS (Fe&Teger1 e Rieen)
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